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Question Number : 1 Question Id : 6589883618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following was the first planet in the =solar system to be vistied by
a Spacecraft ?

FTeaT § 9 A 98 Uedl 98 © 99 W) e I Ued) xR ugHl o ?

Options:




Mercury

9

Venus

NED

Mars
3. HT

Question Number : 2 Question Id : 6589883619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label ; Multiple Choice Guestion

The first effective vaccine against polio was prepared by :

Oietdl &1 gl WHIdl YioREl Sl fhdd gIT fasiaa foear 1ar 21 ?

Options:
1. H. Gibbon
1 T};’o Uzlo 5rs]-_-|

Jonas E Salk
AT 3o 96

Robert Edwards

James Simpson

\J_‘|x = |-{.,JIQ:|._-|

Question Number : 3 Question Id : 6589883620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which of the following disease is not transmitted by Aedes aegypti ?
f=fefa 5 9 S99 dHRN Ufew Uure! 81T A8 hadl 7

Options:

Chikungunya
f"‘.' L ] -":'_-l.

1.



Dengue
> S

Chicken-pox

5 Bl Al

Yellow fever
i el v

Question Number : 4 Question Id : 6589883621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The period of the business cycle in which real GDP is increasing is called the:
IR =5p &1 98 Aavel o Wlo Slo o § gig 2l 8, T Hecldl @ -
Options:

Expansion

W ~

peak
oy

Receszion

Stagflation

4ﬂ?ﬂrﬁ1ﬁ7ﬁFqﬂT

Question Number : 5 Question Id : 6589883622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

With regressive tax system, as income :
Ueh U Y U] H o S
Options:

Increases the tax rate remains the same

, e g d &Y 9] =¥ IaRafda =1 2




Decreases, the tax rate decrease

Il fr o] Y & oY Hod %

Increases, the tax rate increasze

f:-!i;.f: éﬁﬁmﬁﬁﬂ_ﬁ {‘-Z%.-.i %

Increases, the tax rate decrease

Question Number : 6 Question Id : 6589883623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which one of the following is a usetul biological indicator of Sulphur - dioxide
pollution ?
HEPN STATIATSS G0 @1 SUgdad wiide goe F=feiEd 5 9 &+ 8 7

Options:
Bryophytes
1 & ;-]x T :{-E_.

Algal booms

5 % IR nﬂnl:l

Pseudomonas

Szvﬁtnﬂm

Lichens

i -:;H T Q:l

Question Number : 7 Question |d : 6589883624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

What is the title of the autobiography of Major Dhyanchand ?
TN EES &1 wiigdl & T @e) FeEfafaa ¥ 9 a9 8 2

Options:
Goal

"

1 | [y



Hockey Days

Hockey-My Life

Me & My Hockey
4 o TS A1 B

Question Number : 8 Question Id : 6589883625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Guestion

Oxygen liberated during photosynthesis comes from

UHTe HITHUr I Uihar § Jaxi B4 drell S{Tars" &al | e & 7

Options:
Carbon dioxide
fled SlzdAlHIES

Water
o ]

Break down of Chlorophyll
5 FERIGA & fadsd 9

Atmosphere

41@3—4?

Question Number : 9 Question Id : 6589883626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Biodiversity is highESt in:
wid fafaear ®8r 9aifds sl & 7
Options:
Tundra zone
, W

Prairie zone

5 PRI



TE"'_I'I"LP erate zone

SEH“ETI?HWTW

Iropic zone

4 SWIRCag &3

Question Number : 10 Question Id : 6589883627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Who was the first Indian in independent India to have won a medal in an
individual Olympic event ?

EAs ARG @1 g8 Ugel didd S oI T SAelfUs H efdaTd Wal § ugs il
or ?

Options:

Dhyvanchand
I IS BV B

K. D. Jadhav
5 @0 Slo HET

Prithvipal Singh

Harishchandra Birajdar
Bt EE- R CREEE

Question Number : 11 Question Id : 6589883628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which team has won the Women's Cricket Asia Cup Trophy (Twenty-20
Tournament) held in Malaysia in June 2018 ?
9 ©F o 9, 2018 H Helf¥ram 5 g8 Afgen e URMAT &9 AR (S3<-20
gfard) § fas ure @ off ?
Options:
Bangladesh

SHTCG<

1.

Pakistan

P

5 HTpT



Thailand
5 UTEATS

India

Question Number : 12 Question Id : 6589883629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The word libro' is used in which of the following sports ?
Fufergaa g e e d9fia & °

Options:
Baszkethall
1 L) I \i".'}‘_,:-.__ f:] L

Volleyhall
GRS

Handball

=l
AT
=

Softhall

Question Number : 13 Question Id : 6589883630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Acid present in gastric juice is :
Options:
Hydrochloric Acid

(Citric Acid

4 aic® ara



Sulphuric Acid

Acetic Acid
) . r

Question Number : 14 Question Id : 6589883631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following is the main ingredient of cement ?
Options:

Limestone
| T TR

Silica Clay

Gypsum

P

Question Number : 15 Question Id : 6589883632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The lens used in a simple microscope is

TR e (ATgshepd) ¥ fod o @7 95T 8ar @ 7

Options:
Concave
1, SR

Convex
2 MR

Cvylindrical



None of the three

4 TFTH ¥ BIE G

Question Number : 16 Question Id : 6589883633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

When economists refer to "tight” monetary policy, they mean that the Reserve
bank of India is taking actions that will -

oY SR “gerw difad RkT B wEl BN § o 98 R o € b ardy Red
d@ U WIoEel e © Al

Options:
Increaszes the demand for money

q%1 @1 AN Bl FgIdl @

Decreaszes the demand for money

qa1 1 A Pl gl 8

Expand the supply of money

Contract the supply of money

Question Number : 17 Question Id : 6589883634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label | Multiple Choice Question
OTCElis:
OICEI ®i & 7
Options:

Automatic Stabilisation Programme
1 f-catii_cdd ﬁf%i\ﬂcp\:ul ] J.igr}q

An Indian Share Market

5> T& AR IR TR

Economic Poli cy of USA

Jo THo To w amEes Sifa



Organization of Trade, Customs and Economic Cooperation
. i ; ¢
R, WA 9o Td ¥ Wed T e

4

Question Number : 18 Question Id : 6589883635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion
From where the pole star is not visible ?
g ARl $al | fa@rs F81 ggar g 7

Options:
Tropic of Cancer
1 h ':F.F :,w_'ull
Equator
5 "-LT\’:[EIT ]

North Pole
3 ﬁ ] QIE

South Pole

4 SIE ga

Question Number : 19 Question Id : 6589883636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Question
Which of the following can monitor air pollution ?

freAfeiiead § | A arg gguvl ®1 FRE B Gl § 7

Options:
Fungi

o

Algae

]

Mdic

Bacteria

Lichen

4 PR



Question Number : 20 Question Id : 6589883637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following is a secondary air pollutant ?

Frferad 5 | ®F TP 07 9 Wgud © 7

Options:

Ozone

Question Number : 21 Question Id : 6589883638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

In which of the following city’ Elephant festival is celebrated annually ?
fretferiad 4 | forg wiex 4 2efl Soud aifie ®U 8 590 ordn 8 7
Options:

Jaipur
a2

1. =

Jodhpur
AR

Kota
TIET

Ajmer

e

S DG EEE



Question Number : 22 Question Id : 6589883639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following states in India has the lowest and the highest sex ratio
respectively ?
e § ey el § 9 feed O Sae Bae _ad S Afbead € 7
Options:

Harvana and Kerala

| BT 3N e

Kashmir and Puducherry

5 HIEN Y UTiEN

Sikkim and Kerala

Haryana and Puducherry

4. H Ya g E'I-'EIT ¥ | .:'--E.-'_j é

Question Number : 23 Question Id : 6589883640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Rumtek Monastery is located in which state ?
WeF He fha o § fom # 2
Options:
Arunachal Pradesh
TS UG9l

Himachal Pradesh
|-F.'! T HE:E

JTammu and Kashmir

W U9 HIER

Sikkim
4 b | ':1 5 ]:l

Question Number : 24 Question Id : 6589883641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Where was the famous educational center Vikramshila situated ?
utags e o= faeatten o) ov e o ?

Options:
Bihar
IERIES

Karnataka

2 o ..o

Kashmir

4 FIAN

Gujarat

4. =

Question Number : 25 Question Id : 6589883642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
The International Kite feztival in Gujarat is held in the month of :

ToeTd | B drell ‘HNIed U6 Sewd Ty JE H A Srr & 7

Options:
January

(% Ea v E

March
a1

August
HA

November
"':-f:l ]:s:l q

Question Number : 26 Question Id : 6589883643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Minister of State for Culture and Environment, Mahesh Sharma recently
inaugurated 'Azaadi -Ke-Diwane' museum in which city ? -
HEpfa U9 TEiER IS q3 A uE 4 e § & e weR F erwrel & g
HUETAd @1 3gHicd fhar ?
Options:

Mumbai

i @

Amritsar
TR

New Delhi

Panipat

4_31-—T*mﬁ

Question Number : 27 Question Id : 6589883644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which one of the following received Jnanpeeth Award, 2018 ?
f=feriad 4 9 &9 2018 @1 Siule VR fFer o1 ?

Options:

Krizhan Sodhi

HWI G

Shankar Ghosh

Amitav Ghose

Kedarnath Singh

HgNArR e

Question Number : 28 Question Id : 6589883645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Which nation's lawmakers have approved a new law that will allow them to
punish online media outlets for publishing fake news?

frd <o & fafg Ferdama = mﬁqwmmwm?a‘mﬁ SIEGIES
HIfeaT |He W 3o GHEN UBIE &Y o a3 sfed & &1 ffUer ar g ¢

Options:

Indid
Il % El

China

==

Russia
For)

Pakistan
."'E -ll-E.-l \'E LY | §

Question Number : 29 Question Id : 6589883646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

When was the Tanaushadhi Diwas' celebrated across India ?
AT ARG F o6 fafer &1 se-sii feag & v H #ew T v
Options:

6 March
, 6HME

7 March
7 g/

3 March
S A

9 March
9 AT

Question Number : 30 Question Id : 6589883647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question



Kummanam Rajasekharan recently resigned as the Governor of which State ?
CaRa i AR Tk £e R B B T B B A e B R B T o e e e B e B R 2

Options:
Mizoram
1 For—ry
Assam
5 B3
Meghalaya
5, TETCH
West Bengal
i BIEEL R
cec I Data & REESOHng
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Question Number : 31 Question Id : 6589883648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

'Steel’ is related to "Alloy’ in the same way as 'Zinc ' is related to:

Wil forg oRe Ao ¥ 99fEd § S99 e Wl ¥ 9efEd §

Options:
Non- metal

1 g



Halogen

Alll::rj;
[EEEIn

Metal
& g

Question Number : 32 Question Id : 6589883649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Guestion
How many pairs of letters are there in the Word ' CONFUSED' which have as
many letters between them as in the English alphabet ?
e 'CONFUSED' ¥ 3Rl & fhad &is 2, 9 9= 8 3 avEen & &9 9
I 3R & 7
Options:
One

Odh

L

Four
4 ©M

Question Number : 33 Question Id : 6589883650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

If in a certain code language TPL' is written as ‘81256144, then how will 'BUT'
be written in that language ?

afe s FHfEgd & 91 J§ TPL' 371 '81256144' for@r W €, o1 B9 9 ¥ 'BUT
$y forar o ?

Options:

4441400

1



5 4444100

2 4100444

4 4144400

Question Number : 34 Question Id : 6589883651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Arrange the following words in a logical sequence :
o oegi &1 difhes H H AT &Y

(a) Application (b) Selection
SIGED G|

(c) Exam (d) Interview
ORIET HIEhTY

(e) Advertizement

-

Options:
1 a, b, ced

eacdb
z.

e, c,a,db
=

d e ab,c
4.

Question Number : 35 Question Id : 6589883652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

In a class of 45 students, a boy is ranked 20th. When two boys joined, his rank
was dropped by one. What is his new rank tfrom the end ?

45 B ® Hel H Yo dedl 204 WIH W 2| We & dgd AR WHA Y, O THD
V& UH PH (dropped) B T2 | THST T3 Iob AR H FT 2 7

Options:

25th

1 2537



26th
5 2647

27th
27l

28th
2847

Question Number : 36 Question Id : 6589883653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

In the following Venn diagram, which of the following represents the
educated men but not urban ?

fF=ferfad 99 9N (Venn diagram) H
gfdAfeea &ear 8, elfde I8 a8l 7

T e
Ulban (7/ 3 \ — Government employees
10h 7 o .
\ ARl pHTIN]

§ 9 P RilEE e @

—> Men

HTEH]
/ \@ Educated
ferfera

Options:

g
1.

5l

11

Question Number : 37 Question Id : 6589883654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Raghu and Babu are twins. Babu's sister is Reema. Reema's husband is Rajan.
Raghu's mother is Lakshmi. Lakshmi's husband is Rajesh. How iz Rajesh
related to Rajan ?

Y 3N A Jfsdl €| 919 B g8 OA1 8 | A @7 i o | g B AT wed] 2|
e w1 9 oI 2| IO F e 9 F G 8 7

Options:
Uncle

T

Son-in-law

2. "EI L

Father- in-law
5 WOY

Cousin
4 TR HIS /T

Question Number : 38 Question Id : 6589883655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

There are six members in a family. A is the father of D, E is the grandfather of
D. B is the daughter-in-law of C. F is the uncle of D. What is the relationship of
CwithF?
Uh RaR H B8 FeR SIA, DS a1 8, E, DA ERT 21 B,C & 8.2 | F, D &I
o g | C@l FH &1 |ag 8 7
Options:

Sister

a8

Mother- in- law
HH

Mother
e

Data inadequate

i B ol AU 'Er

Question Number : 39 Question Id : 6589883656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

At what time betwween 5 and 6 are the hands of a clock coincident ?
58N 6 ® 49 59 TH9 g1 &1 g3dl @ Wy B0 7

Options:

22 min past 5

1 5 auidy 22 fAe

30 min past 5
o 5 gy 30 HAC

22% min past 5

D Fulhv 22% e

2?3 min past 3
11

3
11

5 Fgady 27 e

Question Number : 40 Question Id : 6589883657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

On which dates of April, 2012 will a sunday come ?
3T, 2012 31 foh ARMEl 9 Yaa g ?

Options:

) 5,12,19, 26

5 1,8,15,22,29

3,10,17, 24

Question Number : 41 Question Id : 6589883658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Kunal travels 10 m from his shop and turns to his left. After that he turns to
right from the crossing. After moving certain yvards, he turns to left and again
turns to left after moving some distance. Finally, he tums to right. If at final
position he is facing North direction, then which direction he was facing while
coming out of his shop ?

BT HUHI BT 10 Fo &1 ATHT BT & AN FUA € HR FEdl & | IHD dig
ge T § TN g1 €| Y T TeH B 45, g€ 918 AR gedl € 3N |9 g
o @ dIg Y ¥ 913 3R geal 2| 3d H 98 IR AR geai 2| Afg sifan Rafa |
ag 9N Q9 1 SN 2, Ol 98 AUl g ° 9} A HY fhy fSun @1 SN o 7

Options:

South

R

West
qivgH

East

3

L5

North
A R

Question Number : 42 Question Id : 6589883659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Guestion
A, B, C, D, E and F are standing in a circular space facing the centre. A and C
are together and also E and B are together. B is standing to the left of F. There
are two persons between D and E. A and E are not together. If we move anti -
clockwise from F to E, then how many persons are there between F and E ?
A B, C D E3REF UG ATHR WH T &5 & IR WS £l AIRCTFH I 2
ARERBM G WU EIB FH IE IR G2l DIARE & 19 o1 &Afdad 21 A
AR E UH WY E £ | G B9 F Y E 9% 9HEd 90 & of F 3R E & a9 o
fad € ?
Options:

1
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Question Number : 43 Question Id : 6589883660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Six faces of a block have been painted with green, blue, white, vellow, black
and pink. Two positions of this block is given below. If the black colour be at
top. Then which colour will be at the bottom ?

=d & o Rfadl - f9u 710 81 afe &rem 31 999 $W B, df 999 A hE-a
T BT 7

#

White

Options:
Green

Yellow

White

4 TP

Sub-Section Number: 2
Sub-Section Id: 65898845
Question Shuffling Allowed : Yes

Question Id : 6589883661 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (44 to 46)
Juestion Label | Comprehension



An organization consists of 4300 emplovees working in different departments viz. A,
B, C, D and E. The ratio of male to female employees in the organization is 5 : 3
respectively. 12% of the males work in the department A. 24% of the females work in
the department E. The ratio of males to females working in the department A is 13: 33
respectively. 200 females work in the department C. 42% of the males work in the
department D. Number of females working in the department D is 10% of the males
working in the same. The remaining females work in the department B. The total
number of employees working in the department C is 570. 22% of the males work in
the department B and remaining work in the department E.

U WS @ faE= f@EE O 6 A, B, C, D 3R E 4 &al 4,800 FHHADN U HXd @ |
WS H YOS 1 AU AGsi & HR S 5 - 3 21 12 uiawd yey faurT A H @i
wed 21 24 Ufoed Afedr 9 E 8§ & &l 21 39 A H @ & arel, Joul @
HUTT Aigerrdl & H1f AW 18 - 33 T 1 200 AR faurT C H @ el 21 42 ufoerd
ey fq9rT D H & &ed 21 a9 D H @Rl & arell Jigesll o w99 faen o
1Y B dlel JHuI Bl HEAT &1 10 Yiaer & | 99 &4 g8 Afeard {99 B 3 w1 el 2 |
farT C & Fa F1d & drel dHANdl @ F@= 570 21 39 B H 22 ufderd goy w1y
Y o, T U9 U EH @1 & © |

Sub questions

Question Number : 44 Question Id : 6589883662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

What is the total number of females working in the department A and
department B together ?
9T A Ud T390 B H HRI-URT &1 6 dlel] Aieeliall @ 9l @1 8 7
Options:
1024

1042
2.

1026
o

1060
4,

Question Number : 45 Question Id : 6589883663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



The number of females working in department D is what percent of the total
number of females in the organization ?

fe9rT D d &1 &Y arell Jearsi @1 G, e § A @ da e @
Options:

1 11%

Question Number : 46 Question Id : 6589883664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label ; Multiple Choice Question
The total number of employvees working in the department E is approximately
what percent of the total number of employees in the organization ?
fa9rT E 4 &1d &X1 diel dHanNdl @1 hel Wedl, Hied H @i $Ye del i
FHATNA] P TdherT i & 7
Options:
12%
1.

Sub-Section Number: 3
Sub-Section Id: 65898846
Question Shuffling Allowed : Yes

Question Id : 6589883665 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (47 to 49)
Juestion Label - Comprehension



Study the following graph caretully and answer the questions that follow :

Number of people working in various departments of two different organisations :

Fferiad T o1 & | g &Y, AR gY Y gdrell Bl odrE §

ST aTeT-3e7T SieA1 & faf—= 99 § oriNg afeaar &7 9317

Y
650 — ; g
BU0 — ' . -
550 —
500 T -
500

450 — 475
400 — 350/
350 — A
00 — ~_ S
250 — - .

275
200+~ 20N/ = 225
150 -+ N |
100 — 150
5ﬂ 1

0 | | [ [ ! [y
HE Legal Marketing Accounts Exports T
Departments (fd9TT)
Sub questions

Question Number : 47 Question Id : 6589883666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

What is the respective ratio of the number of people working in the IT
department of organization A and the number of people working in exports
department of organization B ?

T8 A @ M50 Tlo @MFT H &8 &Y del @ @ Wl 3N Wed B & a4
fETT # M DY aTel AR &l G 6] Hafa Sgura @ © 7

Options:
4-3
1



Question Number : 48 Question Id : 6589883667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion

The number of people working in legal department of organisation B is
approximately what percent of the total number of people working in
organisation A ?

TS B & FIA fUFT # $E B 9rel ol DI H&=1 G704 A H B Y dred
AT @1 Hel T B T gt 8 7

Options:
29.19%
1.

5 9.09%

30/
5 13.12%

i 15.18%

Question Number : 49 Question Id : 6589883668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

What is the total number of people working in organisation B ?
TS BH &9 @R gl ARl © § HEG w1 E ?

Options:

1925
1.

1950
2.

1975
=

Sub-Section Number: 4
Sub-Section Id: 65898847
Question Shuffling Allowed : Yes

Question Number : 50 Question Id : 6589883669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question

A cube of 25 cm side is divided into 125 smaller cubes of equal volume. Find
the side of smaller cubes :
25 WAl YT Al UF H B §HE A % 125 oic "4l H fawifo fean e 2 |

Options:
2 cm
2 T
1.
3cm
, 3 Tl
5em
3 2 i
6 cm
6 HHT
g

Question Number : 51 Question Id : 6589883670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Reena is twice as old as Sunita. Three years agp, she was three times as old as
Sunita. How old i= Reena now ?
SHT AT 9 SR 9E &1 2| A 99 Ul 98 gArdT | A A1 95 @1 21| 39

Options:

6 vears
6 dn

12 years
12 a9

14 vears
14 79

16 years
16 9

Question Number : 52 Question Id : 6589883671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In a coded languﬁge COMPUITER is written as RETUPMOC. How is
MACHINE swritten in the same code ?

TFH de 9§ COMPUTER & RETUPMOC & w0 H forar @mar 21 s @ H
MACHINE &7 &9 fordr S ?
Options:

] DHFTCHS

HGTIRDM
z.

ENIHCAM
=,

; HGRMSCH

Question Number : 53 Question Id : 6589883672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

What is value of blank position in the given series ?
feg T 2l | @rell Wi & |99 897 ¢
1,6, 15, (...), 45, 66,91

Options:

26
1.

Question Number : 54 Question Id : 6589883673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which number should be replaced with x in the following series ?
g g&m & 99 SV § 1 & W@ W Y= A e ?
L ST I O i

=

Options:



1.
13

2.
14

>,
15

4.

Question Number : 55 Question Id : 6589883674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

In a certain code, SIKKIM is written as THUJL, how iz TRAINING written in
that code ?

®fcga He H SIKKIM @1 THUJL & %0 H forar Wil &, 39 & H TRAINING
BT HY o= SEFT B 7

Options:

L SQBHOHOEF

» UQBHOIOF

5 UQBHCHOI

, UQBHOHOF

Question Number : 56 Question Id : 6589883675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Find out the next number in the series 97, 86, 73,58, 45, (...._....._. )i
Syt 97, 86, 73, 58,45, (............ \ 3 3TN AT BT UAT Y -
Options:

=
;. hd
5 o6
= a4

i
L



Question Number : 57 Question Id : 6589883676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

According to new terminology, "Aries’ means'air’, 'Taurus' means light', 'Libra’
means 'water' and 'Scorpio’ means 'earth’. What would an organism breathe in ?
T IgTae] & HTHN 'Aries’ @1 A ‘air' g, Taurus' &1 3 light', Libra' @1 3o}
Water 99T 'Scorpio’ &1 9] 'earth’ 2 | Uh Wilg 9ig § &1 o T 7

Options:

Aries
Taurus

Libra

Scorpio

Question Number : 58 Question Id : 6589883677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Two towns P & Q are 275 km apart. A motorcycle rider starts from P towards
Q at 8 a.m. at the speed of 25 kin/ hr. Another rider starts from Q towards P at
9 a. m. at the speed of 20 km/ hr. Find at what time thev will cross each other ?

a1 H P 3R Q 275 Al gX 2| U Arcy "idfdhel §aR P ¥ Q &1 & 8 & Ui
25 fedl/HeT @1 T 4 I AN @Yl 8 | U gEvT Jicy Wiied ged Q 4 P
@ AR 9 aul UTa: 20 R /Her & T F g 3RY @l 2 | 9a1 @se o fhy
TG TN U Th-gE & R @ ?
Options:

2. 45 p.m.
;| 2.45 Tl SRTE

230 p.m.
> 2.30 T0 HWRTE

135pm.
1.35 &l OIS

1.15 p-m.
g A Crciic P ries



Question Number : 59 Question Id : 6589883678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label ; Multiple Choice Guestion
What is average (Arithmetic Mean ) of thenumbers:2,4,5,0,9, 10 and 12 ?
HEE 2,4,5,0,9, 10 U4 12 &7 SiAdT (SfHTT0RE AT )= g ¢

Options:

5
s

=]

& ]

Question Number : 60 Question Id : 6589883679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Question

The radii of two cvlinders are in the ratio of 2 : 3 and their heights are in the
ratio of 5 : 3. The ratio of their volumes 1s ;

g1 @ol=l @ ey 2 0 3 & AW HOF R oAdt Gangal & 9T 50 3 8| 99 ®
AT B A &

Options:

; 10:17

5 20:27

5 17:27

4 20:37
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Section Id : 65898838
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Section type: Online
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Number of Questions: 30
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Section Marks: 90
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 65898848
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 6589883680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If x =—1, then what is the value of the function ?
A x=—1, @1 == HaA9 &1 919 T B8R 7

flx)=2 +4x+12

Options:
1 7
o 9
5 11
4. 13

Question Number : 62 Question Id : 6589883681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A die iz thrown 1000 times and the outcomes were recorded as follows -
ol O W 1000 =19 W T S g feeteiie e w Raere g o

Ohitcome 1 2 3 4 5 (&}
qfTH
Frequency | 150 | 150 | 10 | 170 | 150 | 190
AT

If the die iz thrown once more, then the probability that it shows 5is:
O I T U g9 AN BT WY o gEw] miEear fi 7w 5o g

Options:
2]

[
o

M|,\.]
=



Question Number : 63 Question Id : 6589883682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Lakel : Multiple Choice Guestion

Three-fourth of the number of girls in a school is equal to half of the number of
boys. It the school has 1420 pupils, how many of them are boys ?

Ud hal H olsihdl $ HET @] dF-diE dedl B 9@ & AH $ aEs & | A
el ¥ 1420819 8, o 97H ¥ fae] orsa 2 7

Options:
852
1
720
2
o563
=
284
4.

Question Number : 64 Question Id : 6589883683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

Which one of the following is #ot a quadratic equation ?
frefaftas 5 @ & v Ga e 98 8 7

Options:

(X +2)7 =2(x+3)

1

- ¥ +3x=(=1)(1-3x)]

5 (E+2) (x-1)=2"-22-3
P e i L R

Question Number : 65 Question Id : 6589883684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

The sum of the digits of a two-digit number is 9. It 27 is added to it, the digits of
the number get reversed. The numbers is

BT afhl #1 UF FEm & it @ O 9 8| ufy 3WH 27 WrE, 9 39 e @ Ak
gele W € | 9% e §

Options:

1 40



Question Number : 66 Question Id : 6589883685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Sachin is younger than Rahul by 7 vears. If the ratio of their ages is 7 : 9
respectively, find the age of Sachin :
afeF YEe § 7 99 Biel 81 Ifg 99 g o1 S $eER: 7 0 9 3 Ol 9 @

Options:
i\ 3.5
24 5
2.
12.5
3
4 145

Question Number : 67 Question Id : 6589883686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
Ifa:b=2:-3andb:c=4:3. thentinda : b:c

g a-b=2:3TW0b:c=4:3.7Ta:b:c I HIAT |
Options:

2 - Jy -
1.‘5'1_'q

[t
(o]
(w1

o
ad

.:Cj

Question Number : 68 Question Id : 6589883687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

The =alaries of A, B and C are of ratin 2 - 3 : 5. If the increments of 15 %, 10 %
and 20 % are done to their respective salaries, then find the new ratio of their
salaries.

A BUWCH I 2:3:5 @ g & 2| g 15%, 10% X 20% & 9a gf5
Seh WAt I WY G A 8, W SH@ god 1 g7 U S HIAg

Options:
20:33:60

F1.-33 60
232 =33 5)

23:33:60

Question Number : 69 Question Id : 6589883688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The value of MS—|:111+{11><ll}—q’—:’:}—{B—'}—E}] is

'115—[111+{u><11;—{—4;—{3—ﬂ—3}] @1 7 B

Options:

15
1.

Question Number : 70 Question Id : 6589883689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

A number is increased by 10% and then it is decreased by 10%, then the net
decreaze perceutage 15
TS HE H 10% W1 gig el 2 IR 9 I8 10% Te Wl g O Ig e afawd

e

B




Options:

1%

1.

Question Number : 71 Question Id : 6589883690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

|
A student goes to school at the speed of 2; km/hr and reaches 6 minutes late.

If he travels at the speed of 3km/hr, he is 10 minutes early, then the distance
to school from his home is :

=5

J. - i r C " ot o *, e
TP B 2 A1/ /He] B T H Tl ST § O 6 fA9e & <8 ¥ ughar € ol

3 fodl/HeT @1 TTid | Fadr 8, d ¥ha 10 fEe ugd ugdHdr 2 o 99 oY 9 6
Options:

6 km

o _I.'i".llﬁ

5 km

5 o

4km
5 4 G|

Jkm

, 3fFa

Question Number : 72 Question Id : 6589883691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



Two trains of lengths 150 metre and 180 metre respectively, are running in
opposite directions on parallel tracks. If their speeds be 30 km/hr and
24 km/ hr respectively, then the time taken by them to cross each other is:

FHEY: 150 Hex Ud 180 Hicy ®I T =TE arel ©f o Jaox ueiar o) e femm
4 @el R8I 2| Afq 9B T E: 30 fEAl/HeEr SiX 24 feHi/der 2 O U gE
B ON B @ [0 S9@ g1 o a1 999

Options:
22 Seconds
.22 WETS

24 Seconds

24 HHUS

23 Seconds

28 HHUS

30 Seconds
3':' QEI G P

Question Number : 73 Question Id : 6589883692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

When the rate of interest in a nationalized bank is increased from 5% to 6% per
annum, a person deposits Rs. 1000 more into his account. If the annual interest
now received by him is Rs. 110 more than that before, then his original deposite
is:

U NI dd @ aifdeh el a¥ 5% H dgmy 6% 8- U¥ Uh fda U] ard
%o 1,000 AfEE T8 FR oal © | TG 98 e & Ued 9 Bo 110 8 9 T,
dl 4 d o SHS Hagd B

Options:

Rs. 4,000
, %O 4,000
.2,000
> 5,000

45
o in

)
LA

6,000
%o 6,000

&

<. 7,000
%o 7,000



Question Number : 74 Question Id : 6589883693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The number of selections of six persons including only one teacher from 4
teachers and 7 students izs:

4 TRl TUT 7 B©E H 9 6 iag G99 ®del U el 9iEed 8 & 99
B i HE ? A

Options:

/h

1.

34
2.

Question Number : 75 Question Id : 6589883694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
Probability of being 53 Sundays in any leap-vear is

4T =g a9 H 53 99N B89 $f Uiidar ©

Options:
J 2/7
5 3/7
5 4 /7
5 B

Question Number : 76 Question Id : 6589883695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

In 35 litre mixture, ratio of milk and wateris 4 - 1. If 7 litre more water is added
to the mixture, then the new ratio of milk and water will be ¢

35 ©liex 45 4 g9 SN Uil &7 aurd 4 - 1 21 afe s § 7 wfiew ur sl e
fear &g, o1 g9 SN U &1 T4 U 8
Options:




1

5 2:3
25 F2
i 3 |

Question Number : 77 Question Id : 6589883696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

¢ gn-3
By what number of the following should |—h?i be divided so that the

: i 0
quotient may be equal to [ 5

2 - =, -
frafefag # o fog d@enm @ !—‘—;l ® faurford &1 =@ifev afe HoThd

12473

121
16326

Question Number : 78 Question Id : 6589883697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



A bag contains 3 red balls, 5 white balls and 7 black balls. What is the
probability that a ball drawn from the bag at random will be neither red nor

black ?
T el | 3 el 1w, 5 9w E e 7 dell e # | gEd @ miawd ® g
Siel | afEed w9 W w7 e q oo e 2efl s T & wrel ¢

Options:

[ S ] =

|~

[
[¥7]

O

[
ol

Question Number : 79 Question Id : 6589883698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The sum of all odd integers between 2 and 100 divisible by 3 is :
2 @R 100 9/ 31 3 | fauriod HAw faud qui §emsi &1 anT 8

Options:

et
1.

642

Question Number : 80 Question Id : 6589883699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Y, i
The value 0.163in the formof &~ is:

q
P% wa % 0163 & e S -

Jl
Options:



!:,"';| o

n
[t
(S | | A

i
&l
o

9

Ll

'_T:I

Question Number : 81 Question Id : 6589883700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

v +3x—a+2, then value of 'a'is -

If (x—a),is afactorof x"—ax” +x
; (¥—a), d9gHq =i e —ay Sy —a 2, Pl UEYS &, df a & J11 g

Options:

1 #

Question Number : 82 Question Id : 6589883701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

'A' sold a table to 'B’ at a profit of 15% later on 'B' zold it back to 'A’ at a profit of
20% there by gaining Rs. 69. How much did 'A’ pay for the table originally ?

'A' U Cgd B 15% & o9 4 'B' B] 99al ¢, 918 § B 94 cqal Bl T A’ B
20% & o9 ¥ 99 °d1 & 39 98 9d 69 ©UY &1 o9 Bl g O 'A' ' 99 <gd
T WINPT Jeu foher araT fear o ?

Options:
Rs. 280
280 vU?

1.



Question Number : 83 Question Id : 6589883702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

;
A man marks his goods at a price that would give him 20% profit. He sells —of
5

the goods at the marked price and sells the remaining at 20% discount. The gain
percent in the whole transaction is:

T AEH AT THA W Al qod 3dfhd BT 2, S99 IHD] 20% H T BT ¢

3 e o) & o .
a8 AU WAM BT — 9T AfST G W U © AR A9 g9 @A Bl 20% B R
J

a9l 2| 39 QX AR & S 94 o Afaerd &1 o 8l & ?

Options:
10%

Question Number : 84 Question Id : 6589883703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Question

There are 200 Prizes of Rs. 100 and Rs. 50 only. If the total amout spent on the
prizes is Rs. 12,000, the number of prizes of Rs. 100 is -

100 T 201 50 $Ud % Her 200 REER 2| Afg 39 QBRI U §e 12,000 U
e U Y € a1 100 T4 & QRPN @) 9

Options:



1.

100
z.

10
=
4. 60

Question Number : 85 Question Id : 6589883704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

A 90 kg solution has 10% =alt. How much water must be evaporated to have the
solution with 20% salt ?
90 fio To HieT H 10% -H® Ao & | fde= 91 &1 arsdihev &Y 541 ord b
Hicdl H 20% -HE 8 oY ?
Options:

43 kg
, 48 fdio e

30 kg

30 fihe Mo
2.

40 kg
- 40 fho o

45kg
. 45 fho 9o

Question Number : 86 Question Id : 6589883705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

A boat goes 16 km upstream and 24 km downstream in 6 hours. It can go 12 km
upstream and 36 km down stream in the sametime The speed of boat in the

still water is :

U A, GRT B o f§en F 1e [ den rguars @i faun H 24 fFH g9 6 e H
T4 B ¢ | 9o B A H A1 SuuaE ([Fudd f&em) @ SR 12 fF5E 9 seuars
@1 Teum 4 36 Tl 8 ©F ®Xal 2| U ofel ¥ @ B =@ ©

Options:




8 km/hr
3 febd1 /HeT

7 km/hr

P ? F':‘-I" |_,-"; -:|[|

6 km/hr
6 TohAl SHTT

7.6 km/hr
4 76 HEl/HET

Question Number : 87 Question Id : 6589883706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In a group of children, each child givesa gitt to every other. If the number of
gifts is 132, then number of children is :
godl @ U O H Ud g1 U gEY Uodd g & susr (Fve) gar § 1 afe
QUSRI @ "l 1322, o a=di &1 §e&T © ¢
Options:

11

1.

Question Number : 88 Question Id : 6589883707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

How many terms are thereinthe AP. 713,19, ... 2057
AR 4 (A.P)7,13,19, ... 205, % Ugi &1 F&r fha-l ©
Options:
i 33

32



Question Number : 89 Question Id : 6589883708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The number of diagonals that can be drawn by joining the vertices of an
octagomn is :
fep il areeqol & ¥ fawgail @1 Mo | 94 fasui & dweEn ©

Options:
28

1.

24
20

26

Question Number : 90 Question Id : 6589883709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple Choice Cuestion

In how many ways can the letters of the word PERMUTATIONS' be arranged if
vowels are together ?

e PERMUTATIONS' & &R &l fha- UdN ¥ SJdiNgd &Y Hdd & widid @y
& AR B UH GIY W@ T B Y

Options:

. 4355400

20160

40320

2419200

Sec [V WA and Language English
Section Id : 65898839



Section Number : 4

Section type: Online
Mandatory or Optional: Optiona
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 900
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 65898849
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 6589883710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Choose the word nearest in meamng to the underlined part :
She is very much sancuine about her business prospects.

Options:
worried
1

realistic
- callous

. Dptil‘l’]iEtiC

Question Number : 92 Question Id : 6589883711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Choose the word nearest in meaning to the underlined part:
Your unrul}' behaviour disappnmtz your parents.

Options:
i Jealous

. Disorganised

o Amiable

4 Unpleasant



Question Number : 93 Question Id : 6589883712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Choose the word nearest in meaning to the underlined part:
Decrepit animals evoke pity in us.

Options:
ztrr:mg

» ugly

o ) veak

4 attractive

Question Number : 94 Question Id : 6589883713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Choose the word nearest in meaning to the underlined part :
Any business company requires dazhing salesman.

Options:
; Attractive

Homnest
Hard- working

Sincere
4.

Question Number : 95 Question Id : 6589883714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In the following sentence, select the word which is opposite in meaning

to the underlined word -
The disease can cause sterility in men and women.

Options:



Serenity
Fertility
Casuality

Sexuality

Question Number : 96 Question Id : 6589883715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

In the following sentence, select the word which is opposite in meaning

to the underlined word -

If food containing fat is rancid, it tastes unpleasant.

Options:
Sour
1

Milky
5 ;

5 Olly

i Frezsh

Question Number : 97 Question Id : 6589883716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In the following sentence, select the word which is opposite in meaning
to the underlined word :

This system perpetuated itself for several centuries.

Options:
1 Contradicted

5 Neglected
5 Supported

4 Discontinued



Question Number : 98 Question Id : 6589883717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In the following sentence, select the word which is opposite in meaning
to the underlined word :
The house remains intact even after 150 Years.

Options:

L Damaged

5 Pertect
- Filthy

4 Clean

Question Number : 99 Question Id : 6589883718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.

The government has decidedto ..........._.._. a new scholarship this vear.

Options:
! found

5 conduct
establish

institute
g

Question Number : 100 Question Id : 6589883719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Choose the best option to fill in the blank in the given sentence.
AnFIRhasbeen ... ............. against the two criminals.

Options:



wiritten

5 lodged
5 set up

made
4

Question Number : 101 Question Id ;: 6589883720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.
The accountant and cashierof ourbank ................ resigned.

Options:
have
1.

has
=

5 had

o will have

Question Number : 102 Question Id : 6589883721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.

Baconandeggs ................ my usual breakfast.

Options:
are

were

or had bheen



Question Number : 103 Question Id : 6589883722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.
Lancconfidenf .. ..o my victory.

Options:

tor
1.

with

Question Number : 104 Question Id ;: 6589883723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.
She always hankers _............... power.

Options:
after

at

o1

i behind

Question Number : 105 Question Id ;: 6589883724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.

She ... ... the examination in 2005.

Options:

. have passed



5 had passed

5 Ppassed

4 passes

Question Number : 106 Question Id : 6589883725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Identify the part having an error.

He got (1)/ second prize (2)/ in the tournament (3)/ last week (4)

Options:
. (D)

Question Number : 107 Question Id : 6589883726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Identify the part having an error.
Dog is (1)/ a faithtul (2)/animal and(3)/a strong gatekeeper (4}

Options:
e

Question Number : 108 Question Id : 6589883727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Identify the part having an error.

Either the youngman (1) /or his friends (2),/ has stolen the book(3)/
from the table (4)

Options:
1 (D

Question Number : 109 Question Id : 6589883728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Identify the part having an error.
You, I and he (1)/ are (2)/good (3)/ singers (4)

Options:
1 (D)

Question Number : 110 Question Id ;: 6589883729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Identify the part having an error.

I (1)/ together with my parents (2)/are leaving (3)/ for Delhi tomorrow (4)

Options:
1 (1)



L@

Question Number : 111 Question Id : 6589883730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following words is not a noun ?

Options:

L civil

Question Number : 112 Question Id : 6589883731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following words is a verb ?
Options:

1.EEJ

5 false

grace

i cordial

Question Number : 113 Question Id : 6589883732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the most appropriate one to fill in the blank in the fD]lr::wing sentence:

Mohanis ................ friend of mine.

Options:
; the best

good



= better

best
g

Question Number : 114 Question Id : 6589883733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the most appropriate one to fill in the blank in the following sentence:
________________ he was ill, he couldn't appear at the examination.

Options:
After
1

5 However

Question Number : 115 Question Id : 6589883734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Select the most appropriate one to fill in the blank in the following sentence:

lamastadent, . ... ...

Options:

i amn'tl?

am1?
=

C d }
- aren g

ism'tit ?
4.

Question Number : 116 Question Id : 6589883735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Choose the option that catches the spirit of the idiom given :
Put off -

Options:

i formulate

catch
2.
save

4 P DSTP one

Question Number : 117 Question Id : 6589883736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Choose the option that catches the spirit of the idiom given :
Get throuch -

Options:
; tokill somebody

- to be successful in an exam

z to destroy something

4 to meditate

Question Number : 118 Question Id : 6589883737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Chooze the option that catches the spirit of the idiom given :

The demon drink :

Options:

1 alcoholic drink

5 cold drink

- soft drink



4 hot drink

Question Number : 119 Question Id ;: 6589883738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Chooze the option which best expresses the given sentence into indirect
speech :

I said to you,” She will give you my pen tomorrow.”
Options:

1 I told you that she would give me your pen next day.

5 I told to you that she would give you my pen next day.

5 I told you that she would give you my pen next day.

i I told to vou that she would give me your pen the following dav.

Question Number : 120 Question Id : 6589883739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Choose the option that best expresses the given sentence into the passive voice:
Do vour work honestly.

Options:
1 Let your work be done honestly.

> Let your work done honestly

5 You are honestly requested to work.

4 You are requested to work honestly.

Sec IV V& and Language Hindi

Section Id : 65898840
Section Number : 5

Section type: Online
Mandatory or Optional: Optiona
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: Q0

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 65898850
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 6589883740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

[ gl D1 A DITTY |
Options:

1 EE |-| rF__-‘. I

Ma

2. "ﬁrti TThY

Question Number : 122 Question Id : 6589883741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Y Y el 9ol e Y
Options:

Question Number : 123 Question Id : 6589883742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

=8 9§ BIE-T1 e faaaras s g 7
Options:

1 SMH



4 43T

Question Number : 124 Question Id : 6589883743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

i O L o
sbld b AT g & ©

Options:

Question Number : 125 Question Id : 6589883744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

4 g TEAT & A 91§ 7
Options:

1 -LE. I':l 'T:l:} %

o, AIATS

Question Number : 126 Question Id : 6589883745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

=4 § BT HYEdl &1 ggiadral T8l B 7
Options:



Question Number : 127 Question Id : 6589883746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

FUer T GAH £
Options:

1 \E-a-\ Hail]

U&7
3TUET

T
, o

Question Number : 128 Question Id : 6589883747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

ST B B Ade el ©, T T w7
Options:

e
1ICHT

LaiF | =

Question Number : 129 Question Id : 6589883748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



ST TR W Agd Al B, IHS [y IUYEd Wes T B 7

Options:

SHET

YT

Question Number : 130 Question Id : 6589883749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Options:

Question Number : 131 Question Id ;: 6589883750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

= ANTd H H SIE-H1 g [H9ET 8§

Options:



Question Number : 132 Question Id : 6589883751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

r=Torfead 9 O faarfaemo E:IIIF"IKE :

Options:

1 '}‘f-.

_-;l'_—|._: gl

e

Question Number : 133 Question Id : 6589883752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

OHT U Bl A g B, 9 ol U we i 2 7
Options:

1. .\_\l'

HAHAYd

s
2 TR

H-I9H
4.

Question Number : 134 Question Id : 6589883753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

[l & Uid HATgU] der &l 71 Hedl 7

Options:

j,, NG



Question Number : 135 Question Id : 6589883754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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